CLASS:
IX

INDIAN SCHOOL MUSCAT
THIRD PERIODIC TEST 2018-19

SUBJECT:
MATHEMATICS

SET -C

QP.NO.

VALUE POINTS

SPLIT UP MARKS

43’ =576
S>a’=144
> a=12cm

1
Y
Iz

Ar(PQS) = ar(PQR)

—->Ar(PQS) — ar(POQ) = ar(PQR).

- —ar(POQ)
—ar(POS) = ar(QOR)
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R=2m, H=14m
Volume = rir’h
=176m°.
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Ar(ZXW) = ¥x12x18
=108cm’.

Ar(ZXY) = ar(ZXW)
=108cm’.
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V(Lead ball) = 4/3xm(1)3
V(sphere) = 4/3xn(8)*

No. of balls = v(sphere)/ V(lead ball) = 512 balls
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Ar(XYA) = ¥axar(XYZ)
Ar(YPA) = %x ar(XYA)
= Yax¥ax ar(XYZ)

= %ar(AXYZ).
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N N = oY

r=7m, h=24m

>=h?+r> >l=25m

C.S.A = rirl = 550m?

Cost of 1m? = %50

Total cost = 50 x 550 = X27500
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